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BOOKS - VGS PUBLICATION-BRILLIANT

EXPONENTS AND POWERS

Exercise

1. Simplify the following :

Watch Video Solution

4 × 4 × 4 × 4 × 4

2. Simplify the following :

Watch Video Solution

34 × 43

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_P43nXs2jxTsI
https://dl.doubtnut.com/l/_5AuZ0icwup3V
https://dl.doubtnut.com/l/_OdMVfPHsDkW2


3. The distance between Hyderabad and Delhi is 1674.9 km by rail.

How would you express this in centimetres ? Also express this in the

scientific form.

Watch Video Solution

4. What is  equal to?

Watch Video Solution

10− 10

5. Find the multiplicative inverse of the following :

Watch Video Solution

3− 5

6. Find the multiplicative inverse of the following :

Watch Video Solution

4− 3

https://dl.doubtnut.com/l/_OdMVfPHsDkW2
https://dl.doubtnut.com/l/_dLW5VDRRfWA1
https://dl.doubtnut.com/l/_hv8bgnggg9zU
https://dl.doubtnut.com/l/_DYXMWUhi7QBP


7. Find the multiplicative inverse of the following :

Watch Video Solution

7− 3

8. Find the multiplicative inverse of the following :

Watch Video Solution

4− 3

9. Find the multiplicative inverse of the following :

Watch Video Solution

7− 4

10. Find the multiplicative inverse of the following :

Watch Video Solution

x − n

https://dl.doubtnut.com/l/_DYXMWUhi7QBP
https://dl.doubtnut.com/l/_embcYD2kSCj1
https://dl.doubtnut.com/l/_p7SKOqHBp7DR
https://dl.doubtnut.com/l/_XlB6euLG3H0O
https://dl.doubtnut.com/l/_jHyUpQVK3emK


11. Find the multiplicative inverse of the following :

Watch Video Solution

1

103

12. Expand the following numbers using exponents : 543.67

Watch Video Solution

13. Expand the following numbers using exponents : 7054.243

Watch Video Solution

14. Expand the following numbers using exponents : 6540.305

Watch Video Solution

https://dl.doubtnut.com/l/_X9t8UZi1GrzN
https://dl.doubtnut.com/l/_23KruHC6kEcG
https://dl.doubtnut.com/l/_LpGsTYLUmCYi
https://dl.doubtnut.com/l/_W541aitZk19F


15. Expand the following numbers using exponents :6523.450

Watch Video Solution

16. Simplify and express the following as single exponent :

Watch Video Solution

2− 3 × 2− 2

17. Simplify and express the following as single exponent :

Watch Video Solution

7− 2 × 75

18. Simplify and express the following as single exponent :

Watch Video Solution

34 × 3− 5

https://dl.doubtnut.com/l/_mAJ2nAaNezAo
https://dl.doubtnut.com/l/_Rxe3zSKTheL9
https://dl.doubtnut.com/l/_YqHJrdF99w0U
https://dl.doubtnut.com/l/_0uGIpL1tE51N


19. Simplify and express the following as single exponent :

Watch Video Solution

75 × 7− 4 × 7− 6

20. Simplify and express the following as single exponent :

Watch Video Solution

m5 × m − 10

21. Simplify and express the following as single exponent :

Watch Video Solution

( − 5) − 3 × ( − 5) − 4

22. Find the value of 5− 2

https://dl.doubtnut.com/l/_k8V2pvu6Y3fo
https://dl.doubtnut.com/l/_qm2P81wvusMF
https://dl.doubtnut.com/l/_nktwY8yCE40O
https://dl.doubtnut.com/l/_N1qDtRnlCggt


Watch Video Solution

23. Find the value of 

Watch Video Solution

1

2− 5

24. Find the value of 

Watch Video Solution

( − 5)
2

25. Simplify the following :

Watch Video Solution

( − 5)
4

× ( − 5)
− 6

26. Simplify the following :

Watch Video Solution

47

44

https://dl.doubtnut.com/l/_N1qDtRnlCggt
https://dl.doubtnut.com/l/_2wM08JWxgF0L
https://dl.doubtnut.com/l/_fZLn9PoN1HyD
https://dl.doubtnut.com/l/_JHBO4aVgWabQ
https://dl.doubtnut.com/l/_cHB8yzsDiXEM


Watch Video Solution

27. Simplify the following :

Watch Video Solution

( )
5

× 3− 635

33

28. Express each of the following with positive exponents :

Watch Video Solution

4− 7

29. Express each of the following with positive exponents :

Watch Video Solution

1

(5) − 4

30. Express each of the following with positive exponents :

Watch Video Solution

( )
− 3

4

7

https://dl.doubtnut.com/l/_cHB8yzsDiXEM
https://dl.doubtnut.com/l/_zA87vdasHWlj
https://dl.doubtnut.com/l/_Y3zYfMmeAd8d
https://dl.doubtnut.com/l/_Rptsgqep6XPv
https://dl.doubtnut.com/l/_P2IFDi7q0V7M


31. Express each of the following with positive exponents :

Watch Video Solution

7− 4

7− 6

32. Express  as a power with base 3.

Watch Video Solution

27− 4

33. Simplify:

Watch Video Solution

( ) × 2− 31

27

34. Simplify:

Watch Video Solution

44 × 16− 2 × 40

https://dl.doubtnut.com/l/_P2IFDi7q0V7M
https://dl.doubtnut.com/l/_gyPTlPm1cvtL
https://dl.doubtnut.com/l/_i4LB0otGsSC6
https://dl.doubtnut.com/l/_CuJxSap48ci3
https://dl.doubtnut.com/l/_uqQgAvgNKhO6


35. Can you guess the value of 'x' when ?

Watch Video Solution

2x = 1

36. Find the value of 'x' such that : 

Watch Video Solution

25 × 5x = 58

37. Find the value of 'x' such that :

Watch Video Solution

× 72x = 781

49

38. Find the value of 'x' such that : 

Watch Video Solution

(36)
4

= 312x

https://dl.doubtnut.com/l/_DE0fjXeDmmYJ
https://dl.doubtnut.com/l/_Aj0kfhXfNlf0
https://dl.doubtnut.com/l/_BXLCKYfjkTbD
https://dl.doubtnut.com/l/_kNxzu8XDkbuN


39. Find the value of 'x' such that :

Watch Video Solution

( − 2)x + 1 × ( − 2)7 = ( − 2)12

40. Simplify: 

Watch Video Solution

( )
− 3

× ( )
− 2

2

5

25

4

41. Simplify : 

Watch Video Solution

[{( )
− 3

− ( )
− 3

} ÷ ( )
− 2

]
1

3

1
2

1

5

42. If  find the value of 

Watch Video Solution

x = ( )
2

× ( )
− 43

2

2

3
x − 2

https://dl.doubtnut.com/l/_yNuzR9Y5mQvL
https://dl.doubtnut.com/l/_POrCZ0MoUDXb
https://dl.doubtnut.com/l/_XMmBTt6O7KmC
https://dl.doubtnut.com/l/_yjlibBilTPU6
https://dl.doubtnut.com/l/_zcxcjvtwbUb4


43. Simplify and give reasons :

Watch Video Solution

4− 3

44. Simplify and give reasons :

Watch Video Solution

( − 2)
7

45. Simplify and give reasons :

Watch Video Solution

( )
− 33

4

46. Simplify and give reasons :

Watch Video Solution

( − 3) − 4

https://dl.doubtnut.com/l/_zcxcjvtwbUb4
https://dl.doubtnut.com/l/_kCakWzNXNcuz
https://dl.doubtnut.com/l/_s0XZuFNRCqDo
https://dl.doubtnut.com/l/_1IqsJuPRXqfR
https://dl.doubtnut.com/l/_Vi4oHjHW374B


47. Simplify the following :

Watch Video Solution

( )
4

× ( )
5

× ( )
6

1
2

1
2

1
2

48. Simplify the following :

Watch Video Solution

( − 2)
7

× ( − 2)
3

× ( − 2)
4

49. Simplify the following :

Watch Video Solution

44 × ( )
45

4

50. Simplify the following :

Watch Video Solution

[ ] × 535− 4

5− 6

https://dl.doubtnut.com/l/_Vi4oHjHW374B
https://dl.doubtnut.com/l/_HFYbEcvNGtPB
https://dl.doubtnut.com/l/_A2nbB0psSI3S
https://dl.doubtnut.com/l/_rSD3V4G9FDRa


51. Simplify the following : 

Watch Video Solution

( − 3)4 × 74

52. Simplify : 

Watch Video Solution

22 × ( ) × 3− 132

2− 2

53. Simplify : 

Watch Video Solution

(4− 1 × 3− 1) ÷ 6− 1

54. Simplify and give reason : 

Watch Video Solution

(40 + 5− 1) × 52 ×
1

3

https://dl.doubtnut.com/l/_Y9ZxxrlebzBg
https://dl.doubtnut.com/l/_RbnZocl4dGX4
https://dl.doubtnut.com/l/_fAgGawrSvlzU
https://dl.doubtnut.com/l/_mhzP3rsTk43B
https://dl.doubtnut.com/l/_7kLS752uvigv


55. Simplify and give reason :

Watch Video Solution

( )
− 3

× ( )
− 3

× ( )
− 31

2

1

4

1

5

56. Simplify and give reason : 

Watch Video Solution

(2− 1 + 3− 1 + 4− 1) ×
3

4

57. Simplify and give reason : 

Watch Video Solution

× (30 − 3− 1)
3− 2

3

58. Simplify and give reason :

Watch Video Solution

1 + 2− 1 + 3− 1 + 40

https://dl.doubtnut.com/l/_7kLS752uvigv
https://dl.doubtnut.com/l/_CuCTDFdgmHUt
https://dl.doubtnut.com/l/_izeylMboxNza
https://dl.doubtnut.com/l/_PpVR8CqSpPBO


59. Simplify and give reason :

Watch Video Solution

[( )
− 2

]

2
3
2

60. Simplify and give reasons :

Watch Video Solution

[(32 − 22) ÷ ]
21

5

61. Simplify and give reasons :

Watch Video Solution

[(52)
3

× 54] ÷ 56

62. Find the value of 'n' in each of the following :

Watch Video Solution

( )
3

× ( )
5

= ( )
n − 2

2

3

2

3

2

3

https://dl.doubtnut.com/l/_A4fXwaxMiEEE
https://dl.doubtnut.com/l/_I8eAJ1W5M0Td
https://dl.doubtnut.com/l/_cI9urHWRrjyW
https://dl.doubtnut.com/l/_992iSq4uiYfB


63. Find the value of 'n' in each of the following :

Watch Video Solution

( − 3)
n + 1

× ( − 3)
5

= ( − 3)
− 4

64. Find the value of 'n' in each of the following :

Watch Video Solution

72n + 1 ÷ 49 = 73

65. Find 'x' if 

Watch Video Solution

2− 3 =
1

2x

66. Simplify : 

Watch Video Solution

[( )
− 2

÷ ( )
− 3

] × ( )
− 2

3

4

4

5

3

5

https://dl.doubtnut.com/l/_992iSq4uiYfB
https://dl.doubtnut.com/l/_2Nw519iMOIbp
https://dl.doubtnut.com/l/_cy28y5b3PIc1
https://dl.doubtnut.com/l/_ODB1f9wNB2YQ
https://dl.doubtnut.com/l/_acFm8xG8DOTq


Watch Video Solution

67. If m = 3 and n = 2 find the value of 

Watch Video Solution

9m2 − 10n3

68. If m = 3 and n = 2 find the value of 

Watch Video Solution

2m2n2

69. If m = 3 and n = 2 find the value of 

Watch Video Solution

2m3 + 3n2 − 5m2n

70. If m = 3 and n = 2 find the value of 

Watch Video Solution

mn − nm

https://dl.doubtnut.com/l/_acFm8xG8DOTq
https://dl.doubtnut.com/l/_O0gBtaVzf2kS
https://dl.doubtnut.com/l/_CpAgnjiSb8U6
https://dl.doubtnut.com/l/_SpEZTLVdAnIk
https://dl.doubtnut.com/l/_UIsovJ1pX9yx


71. Simplify and give reasons 

Watch Video Solution

( )
− 5

× ( )
− 7

4
7

7
4

72. Change the numbers into standard form and rewrite the

statements: The distance from the Sun to Earth is 149,600,000,000

m

Watch Video Solution

73. Change the numbers into standard form and rewrite the

statements: The average radius of the Sun is 695000 km

Watch Video Solution

https://dl.doubtnut.com/l/_UIsovJ1pX9yx
https://dl.doubtnut.com/l/_RV4tQGalbTgd
https://dl.doubtnut.com/l/_eWgUWjOmDbnv
https://dl.doubtnut.com/l/_xQ6now9cXUwb


74. Change the numbers into standard form and rewrite the

statements: The thickness of human hair is in the range of 0.08 mm

- 0.12 mm.

Watch Video Solution

75. Change the numbers into standard form and rewrite the

statements: The height of Mount Everest is 8848 m

Watch Video Solution

76. Write the following numbers in the standard form : 0.0000456

Watch Video Solution

77. Write the following numbers in the standard form : 0.000000529

https://dl.doubtnut.com/l/_JkYxdEnyy61I
https://dl.doubtnut.com/l/_zA96CmBwf2nt
https://dl.doubtnut.com/l/_ymOFbp8H5HZc
https://dl.doubtnut.com/l/_YhEoSJPpUz9R


Watch Video Solution

78. Write the following numbers in the standard form :

0.0000000085

Watch Video Solution

79. Write the following numbers in the standard form : 6020000000

Watch Video Solution

80. Write the following numbers in the standard form :

35400000000

Watch Video Solution

https://dl.doubtnut.com/l/_YhEoSJPpUz9R
https://dl.doubtnut.com/l/_4a7FsxvDKeLU
https://dl.doubtnut.com/l/_BUZP9yZMjQng
https://dl.doubtnut.com/l/_k8Lznso4MWCg


81. Write the following numbers in the general form :

Watch Video Solution

0.000437 × 104

82. Express the following in the standard form : 

Watch Video Solution

4.67 × 104

83. Express the following in the general form :

Watch Video Solution

1.0001 × 109

84. Express the following in the standard form :

Watch Video Solution

3.02 × 10− 6

https://dl.doubtnut.com/l/_vCxuyG2B4rXt
https://dl.doubtnut.com/l/_BcprP2T2Lt6u
https://dl.doubtnut.com/l/_Kigyh8dNopUb
https://dl.doubtnut.com/l/_kGykz49PuQEj


85. Express the following numbers in the standard form :

0.000000000947

Watch Video Solution

86. Express the following numbers in the standard form :

543000000000

Watch Video Solution

87. Express the following numbers in the standard form : 48300000

Watch Video Solution

88. Express the following numbers in the standard form :

0.00009298

https://dl.doubtnut.com/l/_UZuxtwTSNcz0
https://dl.doubtnut.com/l/_X5EW2oqkG1TV
https://dl.doubtnut.com/l/_GGzBopBnILVy
https://dl.doubtnut.com/l/_x0KHtTQPcYx2


Watch Video Solution

89. Express the following numbers in the standard form : 0.0000529

Watch Video Solution

90. Express the following numbers in the usual form :

Watch Video Solution

4.37 × 105

91. Express the following numbers in the usual form:

Watch Video Solution

5.8 × 107

92. Express the following numbers in the usual form: 

Watch Video Solution

32.5 × 10− 4

https://dl.doubtnut.com/l/_x0KHtTQPcYx2
https://dl.doubtnut.com/l/_dS0xjUKgZ37C
https://dl.doubtnut.com/l/_gHorb48hveM7
https://dl.doubtnut.com/l/_LpFuYuQ47fQd
https://dl.doubtnut.com/l/_f5d84y14bQ87


93. Express the following numbers in the usual form : 

Watch Video Solution

3.71529 × 107

94. Express the following numbers in the usual form: 

Watch Video Solution

3789 × 10− 5

95. Express the following numbers in the usual form : 

Watch Video Solution

24.36 × 10− 3

96. Express the following information in the standard form : Size of

the bacteria is 0.0000004 m

Watch Video Solution

https://dl.doubtnut.com/l/_f5d84y14bQ87
https://dl.doubtnut.com/l/_cGD3DGA9eNC2
https://dl.doubtnut.com/l/_40IqFYzo8vVQ
https://dl.doubtnut.com/l/_pd4uwegEumy3
https://dl.doubtnut.com/l/_POMvBgP6XkV3


Watch Video Solution

97. Express the following information in the standard form : The size

of red blood cells is 0.000007 mm.

Watch Video Solution

98. Express the following information in the standard form : The

speed of light is 300000000 m sec.

Watch Video Solution

/

99. Express the following information in the standard form :The

distance between the moon and the earth is 384467000 m (app).

Watch Video Solution

https://dl.doubtnut.com/l/_POMvBgP6XkV3
https://dl.doubtnut.com/l/_B72It4QCxM3d
https://dl.doubtnut.com/l/_ZFM85wXGpmG3
https://dl.doubtnut.com/l/_ShSfphj3TN37


100. Express the following information in the standard form : The

charge of an electron is 0.00000000000000000016 coulombs.

Watch Video Solution

101. Express the following information in the standard form :

Thickness of a piece of paper is 0.0016 cm.

Watch Video Solution

102. Express the following information in the standard form : The

diameter of a wire on a computer chip is 0.000005 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_ZDhUPRdjuwZU
https://dl.doubtnut.com/l/_8xuX37OTM5Ng
https://dl.doubtnut.com/l/_rJwrHo3qTp7J


103. In a pack, there are 5 books, each of thickness 20 mm and 5

paper sheets each of thickness 0.016 mm. What is the total thickness

of the pack ?

Watch Video Solution

104. Rakesh solved some problems of exponents in the following

way. Do you agree with the solutions ? If not why ? Justify your

argument :

Watch Video Solution

x − 3 × x − 2 = x − 6

105. Rakesh solved some problems of exponents in the following

way. Do you agree with the solutions ? If not why ? Justify your

argument :

Watch Video Solution

= x4x3

x2

https://dl.doubtnut.com/l/_wtNRXCggnI5m
https://dl.doubtnut.com/l/_YiRpVBPeqr4f
https://dl.doubtnut.com/l/_zyXaEWaNmnTY


106. Rakesh solved some problems of exponents in the following

way. Do you agree with the solutions ? If not why ? Justify your

argument : 

Watch Video Solution

(x2)
3

= x23

= x8

107. Rakesh solved some problems of exponents in the following

way. Do you agree with the solutions ? If not why ? Justify your

argument :

Watch Video Solution

x − 2 = √x

108. Rakesh solved some problems of exponents in the following

way. Do you agree with the solutions ? If not why ? Justify your

argument : 

W t h Vid S l ti

3x − 1 =
1

3x

https://dl.doubtnut.com/l/_zyXaEWaNmnTY
https://dl.doubtnut.com/l/_3McOe5Z6Biiv
https://dl.doubtnut.com/l/_mAiW0TMlgehb
https://dl.doubtnut.com/l/_fLZMaMo9tv3i


Watch Video Solution

109. =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

am × bm

( )
ma

b

(ab)
m

( )
m

b

a

(ab)
2m

110. Simplify and express the following as single exponent :

A. 

( − 5)
− 3

× ( − 5)
− 4

( − 5)
− 7

https://dl.doubtnut.com/l/_fLZMaMo9tv3i
https://dl.doubtnut.com/l/_L65u8XNeIjJn
https://dl.doubtnut.com/l/_34YNNWi05lH8


B. 

C. 

D. 

Answer:

Watch Video Solution

( − 5)7

1

(5)7

1

( − 5)
− 7

111. If  then x=

A. 1

B. 2

C. 0

D. 3

Answer:

Watch Video Solution

27x − 7 = 1

https://dl.doubtnut.com/l/_34YNNWi05lH8
https://dl.doubtnut.com/l/_0PNjJQCFBjEm


112. Simplify: 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( )
− 3

× ( )
− 22

5

25

4

−5

2

−
2

5

5

2

2

5

113. Which of the following is not true ?

A. 

B. 

(x − 3)
2

= x − 6

x − 2 = √x

https://dl.doubtnut.com/l/_0PNjJQCFBjEm
https://dl.doubtnut.com/l/_VsHig7pmwUFs
https://dl.doubtnut.com/l/_JmGzyuZ7rj7c


C. 

D. 

Answer:

Watch Video Solution

=
x − 3

x − 2

1

x

x − 3 × x − 5 = x − 8

114. Express the following numbers in the standard form : 48300000

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

438 × 108

438

105

438 × 108

438 × 10− 8

https://dl.doubtnut.com/l/_JmGzyuZ7rj7c
https://dl.doubtnut.com/l/_72X7BGdYlx8X
https://dl.doubtnut.com/l/_9DfGCupDFk9H


115. The general form of  is

A. 47670

B. 4767000

C. 476700

D. 46700

Answer:

Watch Video Solution

4.67 × 104

116. Write the following numbers in the standard form :

A. 

B. 

C. 

0.000437 × 104

437 × 105

4.37 × 10

473 × 10− 2

https://dl.doubtnut.com/l/_9DfGCupDFk9H
https://dl.doubtnut.com/l/_w6XEpmh4nvQF


D. 

Answer:

Watch Video Solution

437 × 10− 2

117. =_____

A. m

B. -1

C. 1

D. a

Answer:

Watch Video Solution

am

an

https://dl.doubtnut.com/l/_w6XEpmh4nvQF
https://dl.doubtnut.com/l/_2b86kYxGRD1x


118. =______

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( )
ma

b

am

bm

am

b

a

bm

abm

119. =_______

A. 

B. 

C. -a

a − n

−an

1

an

https://dl.doubtnut.com/l/_P9z5aPMMuntD
https://dl.doubtnut.com/l/_wUeD8Dw59U7X


D. 

Answer:

Watch Video Solution

−na

120. =____

A. m

B. 3

C. -1

D. 1

Answer:

Watch Video Solution

am × a − m

https://dl.doubtnut.com/l/_wUeD8Dw59U7X
https://dl.doubtnut.com/l/_rXvuvSp1DAL7


121.  =_____

A. 1

B. 0

C. -1

D. 1

Answer:

Watch Video Solution

(20 − 30) × 40

122. The general form of  is_____

A. 

B. 

C. 

1.275 × 103

1275 × 10100

1257 × 105

1275 × 10

https://dl.doubtnut.com/l/_ehkpBS6He16m
https://dl.doubtnut.com/l/_wOoNRfYfsXgU


D. 1275

Answer:

Watch Video Solution

123. =1then x=______

A. 1

B. -1

C. -2

D. 3

Answer:

Watch Video Solution

8x + 1

https://dl.doubtnut.com/l/_wOoNRfYfsXgU
https://dl.doubtnut.com/l/_WUaooksLAvKs


124. =______

A. 3

B. -1

C. 100

D. 1

Answer:

Watch Video Solution

1000

125.  then n=______

A. 3

B. -3

C. 4

2− 4 =
1

2n

https://dl.doubtnut.com/l/_mDGJMz29Yfgt
https://dl.doubtnut.com/l/_q41OJDdJ3jDd


D. 

Answer:

Watch Video Solution

−4

126. =_____

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

am

an

1

an − m

an − m

am

1

am − n

https://dl.doubtnut.com/l/_q41OJDdJ3jDd
https://dl.doubtnut.com/l/_Yn6EfD3PShRN


127. a+ a+ a+`__ 2016 times =____

A. 2016 a

B. 

C. 

D. 

Answer:

Watch Video Solution

a2016

2016a

2106a × a

128. =______

A. 

B. 1

C. 

2− 1 + 1− 1

1

2

3

4

https://dl.doubtnut.com/l/_OtWg6MtBASPm
https://dl.doubtnut.com/l/_zColR8usNMG7


D. 

Answer:

Watch Video Solution

3

2

129. =_____

A. 4

B. 3

C. -5

D. 5

Answer:

Watch Video Solution

(1000 + 2− 1 + 1− 1) + 2− 1

https://dl.doubtnut.com/l/_zColR8usNMG7
https://dl.doubtnut.com/l/_mMZs2aPCL0uz


130. =_____

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

35

3− 6

311

37

38

310

131. =_____

A. 

B. 

C. 

[( )
− 1

]

− 1
2

5

5

2

1

5

2

5

https://dl.doubtnut.com/l/_1Mf2XWykGOVs
https://dl.doubtnut.com/l/_E3n3P1dLldqW


D. 

Answer:

Watch Video Solution

5

1

132. =_______

A. 4

B. -4

C. 3

D. 2

Answer:

Watch Video Solution

( − 2)2

https://dl.doubtnut.com/l/_E3n3P1dLldqW
https://dl.doubtnut.com/l/_RBMGU8Bv83M3


133. a +a+a+ __n times=____

A. na

B. 

C. 

D. a

Answer:

Watch Video Solution

an

na

2

134. Reciprocal of  is_____

A. 

B. 

C. 

( − )
99

5

9

5

9

9

5

999

https://dl.doubtnut.com/l/_BbUWiRZEgJAA
https://dl.doubtnut.com/l/_cRRVjKIH9tVz


D. None

Answer:

Watch Video Solution

135. Which of the following is correct ?

A. 

B. 

C.  = 1, a= 0

D. 

Answer:

Watch Video Solution

am × a − n = am− n

am × bm = a(b)m

a0

(ab) − 1 = a − 1

https://dl.doubtnut.com/l/_cRRVjKIH9tVz
https://dl.doubtnut.com/l/_Yc3ZrwOKe9uX


136. =______

A. x

B. 

C. xy

D. 1

Answer:

Watch Video Solution

(xy) − 2 ⋅ (xy)2

y2

137. Cube of =____

A. 

B. 

C. 8

−1

2

1

8

−
1

8

https://dl.doubtnut.com/l/_KhdUye6GDwLr
https://dl.doubtnut.com/l/_lMmVfZlHcxp3


D. 

Answer:

Watch Video Solution

−2

138. =_____

A. 31

B. 60

C. 32

D. 64

Answer:

Watch Video Solution

(2− 2)
− 3

https://dl.doubtnut.com/l/_lMmVfZlHcxp3
https://dl.doubtnut.com/l/_rTdkHrdsUzN4


139. =____

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

a3 × a − 10

a10

a6

a7

a − 7

140.  then x=_____

A. -1

B. -3

C. -4

7x + 3 = 5x + 3

https://dl.doubtnut.com/l/_yhDmL1EuPOpk
https://dl.doubtnut.com/l/_WYK0NWYr4siF


D. 5

Answer:

Watch Video Solution

141. =_____

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( )
− 2

4

3

9

16

14

3

16

9

9

17

https://dl.doubtnut.com/l/_WYK0NWYr4siF
https://dl.doubtnut.com/l/_jWRdS6CARVO7


142. _______

A. -1

B. 1

C. 3

D. 0

Answer:

Watch Video Solution

( − 9)3 + 93 =

143. =______

A. 

B. 

C. 

x7

x12

x5

x − 5

x6

https://dl.doubtnut.com/l/_RP4UN1KFutg4
https://dl.doubtnut.com/l/_U9LzAYDSAuiA


D. 

Answer:

Watch Video Solution

x7

144. =_____

A. 0

B. -1

C. 6

D. 1

Answer:

Watch Video Solution

( )
0

1

2016

https://dl.doubtnut.com/l/_U9LzAYDSAuiA
https://dl.doubtnut.com/l/_DxwjZ5lCkK4o


145. The general form of  is_____

A. 0.00234

B. 0.00423

C. 0.0023

D. 2.03E-5

Answer:

Watch Video Solution

1.275 × 103

146. The standard form of 23,40,00,000 is_______

A. 

B. 

C. 

2.34 × 108

3.24 × 106

3.34 × 106

https://dl.doubtnut.com/l/_llHSbXzQwbOt
https://dl.doubtnut.com/l/_spe30kQRGuBw


D. 

Answer:

Watch Video Solution

8.15 × 109

147. =______

A. -1

B. 0

C. 1

D. 7

Answer:

Watch Video Solution

(7− 1 − 18− 1)
0

https://dl.doubtnut.com/l/_spe30kQRGuBw
https://dl.doubtnut.com/l/_xE58Rv9P8xsR


148. If we divide  by____we get 8.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

85

810

86

85

84

149. =________

A. 

B. 

C. 

10− 3

1

200

1

100

1

10

https://dl.doubtnut.com/l/_AUypCvI8vc6v
https://dl.doubtnut.com/l/_Hd7MyArMrP3Z


D. 

Answer:

Watch Video Solution

1

1000

150. =_____

A. 

B. 1

C. 1

D. 

Answer:

Watch Video Solution

( )
− 2

÷ ( )
− 2

1
2

1
2

( )
31

2

−2

https://dl.doubtnut.com/l/_Hd7MyArMrP3Z
https://dl.doubtnut.com/l/_X6HSWcI9GbQM


151. =_______

A. 1

B. -2

C. 3

D. 

Answer:

Watch Video Solution

(25 ÷ 26) × 2

−1

152. =125 then x=_____

A. -2

B. 2

C. 4

53x − 1 ÷ 25

https://dl.doubtnut.com/l/_7lqLGEgqvRrF
https://dl.doubtnut.com/l/_xMQ0zWfSlihR


D. 3

Answer:

Watch Video Solution

153.  then n=_____

A. 2

B. 1

C. -1

D. 3

Answer:

Watch Video Solution

= 6− 36− 2

6n

https://dl.doubtnut.com/l/_xMQ0zWfSlihR
https://dl.doubtnut.com/l/_3gkTm1fQgZCL


154.  then m=___

A. 1

B. 4

C. 3

D. None

Answer:

Watch Video Solution

= 5125m × 53 × 5− 2

5− 5

155. =_____

A. 1042

B. 512

C. 1024

210

https://dl.doubtnut.com/l/_BD7ywx0xPmRO
https://dl.doubtnut.com/l/_D1uLBiZcCEjo


D. 

Answer:

Watch Video Solution

−1204

156. Which of the following is correct?

A. 

B.  = 

C. 

D. 

Answer:

Watch Video Solution

(2n) = 2n − 21

4

4n − 1 4n

4m × 4− m = 4− 2m

25(5n) = 5n − 1

https://dl.doubtnut.com/l/_D1uLBiZcCEjo
https://dl.doubtnut.com/l/_XemFOF4cmfXR


157. =______

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3x − 1

3

x

1

3x

3− 1

x2

x

3

158. Express the following in the standard form : 

A. 0.4236

B. 0.243

C. 24.36

4.67 × 104

https://dl.doubtnut.com/l/_TtUXIO2xcrip
https://dl.doubtnut.com/l/_1OnzkiRhkphx


D. 0.02436

Answer:

Watch Video Solution

159. Simplify and give reason : 

A. -10

B. 10

C. 

D. 

Answer:

Watch Video Solution

(40 + 5− 1) × 52 ×
1

3

1

10

−3

https://dl.doubtnut.com/l/_1OnzkiRhkphx
https://dl.doubtnut.com/l/_BR9QUTXA12j5


160. Simplify and give reason :

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1 + 2− 1 + 3− 1 + 40

1

6

6

7

7
6

17
6

161. =_______

A. 

B. 

C. 

30 − 3− 1

2

3

3

2

1

2

https://dl.doubtnut.com/l/_YbdDM5jVG5K6
https://dl.doubtnut.com/l/_oxRjfNORjIbU


D. 1

Answer:

Watch Video Solution

162. m= 3, n = 1 then =_____

A. 4

B. 1

C. -2

D. 2

Answer:

Watch Video Solution

mn − nm

https://dl.doubtnut.com/l/_oxRjfNORjIbU
https://dl.doubtnut.com/l/_uNYPaqRhc1nn


163. Find the value of 'n' in each of the following :

A. -2

B. 2

C. 3

D. 

Answer:

Watch Video Solution

72n + 1 ÷ 49 = 73

−3

164. Verify the:

A. 345.6

B. 453.67

( − 21) × [( − 4) + ( − 6)] = [( − 21) × ( − 4)] + [( − 21) × ( − 6)]

https://dl.doubtnut.com/l/_aJtsXLjZbPOE
https://dl.doubtnut.com/l/_bCBrMFRxQSUy


C. 841.7

D. 543.67

Answer:

Watch Video Solution

165. Simplify the following :

A. 1584

B. 5184

C. 8122

D. 1811

Answer:

Watch Video Solution

34 × 43

https://dl.doubtnut.com/l/_bCBrMFRxQSUy
https://dl.doubtnut.com/l/_lB9oCR17ZRvh
https://dl.doubtnut.com/l/_Z1Pla1fVS4IU


166.  =

A. 

B. 18

C. 12

D. 2

Answer:

Watch Video Solution

5√32

23

167. =______

A. 

B. 

C. 

2401
625

( )
45

7

( )
4

7

5

( )
4

5

3

https://dl.doubtnut.com/l/_Z1Pla1fVS4IU
https://dl.doubtnut.com/l/_Ng9Q8D6MSTXi


D. 

Answer:

Watch Video Solution

( )
4

7
4

168. =______

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(( )
2

)

3
1

4

1

3092

1

6096

1

3096

1

4096

https://dl.doubtnut.com/l/_Ng9Q8D6MSTXi
https://dl.doubtnut.com/l/_hr0biyKORC7W


169. ,x=___

A. -1

B. 2

C. 1

D. 4

Answer:

Watch Video Solution

( )
3

× ( )
− 6

= ( )
2x − 1

4

5

4

5

4

5

170. The standard form of  is____

A. 

B. 

C. 

622/100, 00, 00, 000

622 × 107

6.22 × 10− 7

266 × 10− 7

https://dl.doubtnut.com/l/_WNFmmYbEKxRD
https://dl.doubtnut.com/l/_RVckFPTyDDtU


D. 

Answer:

Watch Video Solution

6.22 × 10− 6

171. =_____

A. 4

B. 3

C. 1

D. 0

Answer:

Watch Video Solution

30 + 40 − 50 − 30

https://dl.doubtnut.com/l/_RVckFPTyDDtU
https://dl.doubtnut.com/l/_bEu7J62BQSZx


172. =____

A. -1

B. 

C. 6

D. 

Answer:

Watch Video Solution

−4− 1 + 8− 1 ÷ ( )
− 1

2

3

−
1

6

1
2

173. =______

A. 3

B. -1

C. 5

( − )
− 11

5

https://dl.doubtnut.com/l/_61pY5dQzzPSx
https://dl.doubtnut.com/l/_asub1ns1gxrD


D. 

Answer:

Watch Video Solution

−5

174. =______

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( )
− 3

2

3

27

8

7

8

1

7

1

6

https://dl.doubtnut.com/l/_asub1ns1gxrD
https://dl.doubtnut.com/l/_6tLIosT1xcHq


175. =______

A. -4

B. -8

C. 8

D. 

Answer:

Watch Video Solution

64− ( 0.5 )

1

8

176. 1 + =____

A. 0

B. -1

C. 3

(9 − 10) − 5

https://dl.doubtnut.com/l/_anA9ZwMKM8qt
https://dl.doubtnut.com/l/_FhQIraIsCSkp


D. 2

Answer:

Watch Video Solution

177. x= ,  then_____

A. 

B. x=y

C. 

D. 

Answer:

Watch Video Solution

3400 y = 4300

x < y

x2 = y

x > y

https://dl.doubtnut.com/l/_FhQIraIsCSkp
https://dl.doubtnut.com/l/_RHdRttG5OkBH


178. =_______

A. 12

B. 16

C. 10

D. 

Answer:

Watch Video Solution

642 / 3

−4

179. యొక్క ఘాతరుపము

A. 3

B. 4

C. 5

4√81

https://dl.doubtnut.com/l/_ItRJ3UJNeN89
https://dl.doubtnut.com/l/_JleqtVpyu4Kk


D. 

Answer:

Watch Video Solution

1

3

180. =____

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[((3)2)
3
]

4

312

318

320

324

https://dl.doubtnut.com/l/_JleqtVpyu4Kk
https://dl.doubtnut.com/l/_hPKP1PN33BDJ


181. =____

A. 

B. 

C. -2

D. 

Answer:

Watch Video Solution

24 × (32) − 1

−1

2

1

2

1

7

182. Base in  is _____

A. 2

B. x

C. -3

2x − 3

https://dl.doubtnut.com/l/_GaCLhvBpyTPG
https://dl.doubtnut.com/l/_IIgAEWEvfVFc


D. 2x

Answer:

Watch Video Solution

183. ^ =____

A. 25

B. 

C. 

D. 

Answer:

Watch Video Solution

(125) ( − 2/3)

1

−10

1

25

1

2

https://dl.doubtnut.com/l/_IIgAEWEvfVFc
https://dl.doubtnut.com/l/_nvNXvvSujpFY


184. Use differential to approximate  .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(25)
1
3

5

7

1

7

1

3

−3

185. If the arthimetic mean between a and b is , then n

=

A. 28

B. 38

an + 1 + bn + 1

an + bn

https://dl.doubtnut.com/l/_czBV8s9N7JZo
https://dl.doubtnut.com/l/_fwgnz2oajVGJ


C. 48

D. 

Answer:

Watch Video Solution

41

8b

186. =____

A. ab

B. a-b

C. 

D. a+b

Answer:

Watch Video Solution

(x − 1 + y − 1)xy

1

a + b

https://dl.doubtnut.com/l/_fwgnz2oajVGJ
https://dl.doubtnut.com/l/_WGmypZxxNPWo
https://dl.doubtnut.com/l/_puEtEBmaIiMn


187. =____

A. a

B. 1

C. -1

D. None

Answer:

Watch Video Solution

(a0)
0

188. =_____

A. 0

B. 1

C. -1

( )
m+ n

× ( )
n + l

× ( )
l + m

an

am

al

an

am

al

https://dl.doubtnut.com/l/_puEtEBmaIiMn
https://dl.doubtnut.com/l/_ocIZO5DCwfZr


D. 

Answer:

Watch Video Solution

−3

189. =____

A. y

B. 

C. -y

D. 1

Answer:

Watch Video Solution

×
x3 / 4 ⋅ √y

− 4

y2 ⋅ √x
− 3

y3√x
9

/2

y − 2√x
9

1

y

https://dl.doubtnut.com/l/_ocIZO5DCwfZr
https://dl.doubtnut.com/l/_Hs7ydUOfdSRh


190.  then x =_____

A. 2

B. -2

C. 3

D. 4

Answer:

Watch Video Solution

9x + 9x − 1 = 90

191.  then =_____

A. 

B. -2

C. 2

10− 3x = 8 10x

1

4

https://dl.doubtnut.com/l/_aydQNPKks5JM
https://dl.doubtnut.com/l/_NqVavtk6rtNH


D. 

Answer:

Watch Video Solution

1

2

192.  then =____

A. `2

B. 

C. 

D. 

Answer:

Watch Video Solution

x = √2 (xx)x

1

4√2

1

3√2

1

5√2

https://dl.doubtnut.com/l/_NqVavtk6rtNH
https://dl.doubtnut.com/l/_YFeULgSRH11P


193. =___

A. 3

B. -1

C. 7

D. 1

Answer:

Watch Video Solution

2n + 2 − 2n + 1

4 × 2n − 1

194.  then x =___

A. 13

B. 7

C. 3

57 − x = 50

https://dl.doubtnut.com/l/_YRUerxQnsNbm
https://dl.doubtnut.com/l/_GmZ2ZEnbwEhk


D. 4

Answer:

Watch Video Solution

195. If =72 then the value of 3x= _____

A. 6

B. -3

C. -6

D. 4

Answer:

Watch Video Solution

9x − 9x − 1

https://dl.doubtnut.com/l/_GmZ2ZEnbwEhk
https://dl.doubtnut.com/l/_MjMbuaGYgTt5


196.  th value of 729 is ___

A. 

B. -9

C. 10

D. 9

Answer:

Watch Video Solution

1

81

92

197. By what number should  be multiplied,


such that the product is 729?

A. 

B. 

3− 4

310

37

https://dl.doubtnut.com/l/_swDcyOtoH5ud
https://dl.doubtnut.com/l/_d3Kb8QtM28sv


C. 

D. 

Answer:

Watch Video Solution

39

36

198.  then =_____

A. 23

B. 19

C. 10

D. 16

Answer:

Watch Video Solution

2n = 2 2n + 3

https://dl.doubtnut.com/l/_d3Kb8QtM28sv
https://dl.doubtnut.com/l/_mzKyId2lMGzf
https://dl.doubtnut.com/l/_JVLegmHmEGAY


199. =_____

A. 30

B. 19

C. 32

D. 16

Answer:

Watch Video Solution

161.25

200. =____

A. 3

B. 1

C. -1

ax ( y − z ) × ay ( z − x ) × az ( x − y )

https://dl.doubtnut.com/l/_JVLegmHmEGAY
https://dl.doubtnut.com/l/_OFgQNiA054CA


D. 0

Answer:

Watch Video Solution

201. a =1,b=2 then  =_____

A. 4

B. 3

C. 2

D. 13

Answer:

Watch Video Solution

ab + ba

https://dl.doubtnut.com/l/_OFgQNiA054CA
https://dl.doubtnut.com/l/_a6xCo7pRjjp8


202.  then x =_____

A. 4

B. 3

C. 2

D. 1

Answer:

Watch Video Solution

2x + 3 = 4x + 1

203. =

A. 

B. 

C. 

( )
− 4

× ( )
2−2

3

−3

5

729

400

9

250

350

9

https://dl.doubtnut.com/l/_8bVI4XstaEjC
https://dl.doubtnut.com/l/_OOpMjQwslvJZ


D. 

Answer:

Watch Video Solution

1

90

204. =___

A. 16

B. 19

C. 29

D. 32

Answer:

Watch Video Solution

( )
− 2

+ ( )
− 2

+ ( )
− 2

1
2

1

3

1

4

https://dl.doubtnut.com/l/_OOpMjQwslvJZ
https://dl.doubtnut.com/l/_z3NgLLPBGFtn


205. =____

A. 60

B. 30

C. 20

D. 16

Answer:

Watch Video Solution

(6− 1 − 8− 1)
− 1

+ (2− 1 − 3− 1)
− 1

206.  =____

A. 

B. 

C. 

× ×
−1

6

−1

6

−1

6

−1

206

−1

16

1

21

https://dl.doubtnut.com/l/_w7geW3BETkqz
https://dl.doubtnut.com/l/_i7KJ2ORWittp


D. 

Answer:

Watch Video Solution

−
1

216

207. Simplify : 

A. 3

B. 2

C. 0

D. 1

Answer:

Watch Video Solution

4√81 − 8 3√343 + 15 5√32 + √225

https://dl.doubtnut.com/l/_i7KJ2ORWittp
https://dl.doubtnut.com/l/_SDcLXUZxZ5J7


208. =____

A. 114

B. 132

C. 112

D. 122

Answer:

Watch Video Solution

(12544)1 / 2

209. The value of 

A. 

B. 

C. 

(2− 1 + 3− 1)
2

24
25

27
36

23

35

https://dl.doubtnut.com/l/_RqusdYjeb71e
https://dl.doubtnut.com/l/_N5f4uu2y2euz


D. 

Answer:

Watch Video Solution

25

36

210. If x =  then the value of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( )
2

× ( )
− 43

2

2

3
x − 2

( )
8

2

3

( )
123

2

( )
12

2

3

( )
− 22

3

https://dl.doubtnut.com/l/_N5f4uu2y2euz
https://dl.doubtnut.com/l/_6QohD0hUnJtz


211. For which value of n,the value of  becomes positive?

A. 11

B. -3

C. 13

D. 

Answer:

Watch Video Solution

( − 2)n

−2

212. Which is not correct among the given?

A. 

B. 

C. 

(x − 3)
2

= x − 6

x − 2 = √x

=
x − 3

x − 2

1

x

https://dl.doubtnut.com/l/_f8ANQoNvxtRo
https://dl.doubtnut.com/l/_hGgWbe2C9OzG


D. 

Answer:

Watch Video Solution

x3 × x − 5 = x − 8

213. The appropriate value of  among the given is:(1). ,

(2). ,(3). ,(4). 

A. 1

B. 1 and 2

C. 3 and 4

D. 2

Answer:

Watch Video Solution

−8

27
( )

− 3
2

3

−( − )
− 32

3
( − )

− 32

3

( − ) × ( − ) × ( − )
2

3

2

3

2

3

https://dl.doubtnut.com/l/_hGgWbe2C9OzG
https://dl.doubtnut.com/l/_fuVo9sPxQzzx


214. Arun has a paper having it's thickness as 0.0015 cm. Then it's

standard form in cm is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

15 × 10− 4

15 × 10− 3

1.5 × 10− 3

1.5 × 10− 4

215. The expanded form of decimal number 543.67 when we use

exponents is

A. 5 × 102 + 4 × 101 + 3 × 100 + 6 × 10− 1 + 7 × 102
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B. 

C. 

D. 

Answer:

Watch Video Solution

5 × 103 + 4 × 102 + 3 × 101 + 6 × 10− 1 + 7 × 10− 2

5 × 10− 1 + 4 × 102 + 3 × 103 + 6 × 10− 1 + 7 × 10− 2

5 × 102 + 4 × 101 + 3 × 100 + 6 × 10− 2 + 7 × 10− 1
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